‘ BEZPEGNOSTNI
AGENTURA

PONY LIGA AKRAZ bezpecnostni agentura 2024
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L"' mMo0134. | BR20.4. | w15 | moas. | mo26s. | mose | BRis6. | ez | neins. | moz2as | L2s9. | BRS.10. | MO19.10. Potet | Prib&iné
PFl’jmenl'a jméno jezdce misto| body | misto| body|misto| bodymisto| bodymisto| body|misto] bodymisto| body|misto| body|misto| bodymisto| body|misto| body}misto] bodymisto| body|misto] bodymisto] bodymisto| body}] bodt poradi
BartosSova Linda 1 4] 1| 4} 3| 2} 1| 4] 1| 4] 1] 4 22 1
Nieslanikova Nela 2 31 1| 4y 1| 4] 2| 3} 2| 3] 2| 3 20 2
VitiSova Lucie 2| 31 1| 4 2| 3] 1| 4} 1| 4 18 3
Vasickova Valentyna 1| 4 a1 11 1| 4] 1| 4] 1| 4 17 4
Bodlakova Sophy 2| 31 3] 2] 2| 3 2| 3] 2| 3 14 5
Matéjkova Laura 31 21 4] 11 3] 21 2| 3] 3| 2] 3| 2 12 6
Zelenkova Petra 1 4 3] 2 2] 31 2| 3 12 6
Bilkova Magdaléna 31 2] 3] 2] 2| 31 3| 21 51 11 4| 1 11 8
Bouchalova Vally 31 21 5] 11 5] 11 3| 2] 3| 2] 3| 2 10 9
Veverkova Nicole 41 1] 2| 3] 3| 2] 4| 1 7 10
Manderla Mikulas 2] 31 1] 4 7 10
Vackova Tereza 5 41 1] 6| 1} 5| 1] 6| 1] 3| 2 7 10
Kasparova Kristyna 2 41 1y 4 1] 4| 1 6 13
Germicova Karolina 1l 4 3] 2 6 13
Rabasova Justyna 41 1 5/ 11 3] 2] 4| 1] 6| 1 6 13
Vinklarkova tereza 1l 4] 4| 1 5 16
Mare3ova Karolina 41 1y 71 1} 7| 1 51 11 4] 1 5 16
Paurova Adéla 3] 2] 6] 1 6| 1] 6] 1 5 16
Oveckova Sofia (SVK) 1| 4 4 19
Fakova Karolina 71 1} 6] 1] 51 1 7] 1 4 19
Rychetska Veronika 2] 3 3 21
Stefaniga Vladimir 2| 3 3 21
Boermans Elizabeth 41 11 7|1 11 4| 1 3 21
Variova Laura 6] 1 4] 1 2 24
Klackova Michaela 41 1 5] 1 2 24
Polackova Karolina 41 1 5 1 2 24
Vargova Klaudie 6] 1] 5] 1 2 24
Bendova Julie 5] 1 1 28
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1.misto = 4 body, 2.misto = 3 body, 3.misto= 2 body, 4.-xx misto =1 bod
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